e-10032 1.11 Equations in Two Variables Supplemental Problems


Exercises for e-10032 1.11 Equations in Two Variables
1. Is (0, 3) a point on the graph of y = 7.79x + 3?

2. Is (0, 3) a solution of the equation y = –7.79x + 3?

3. Is (0, 5) a point on the graph of 4x – 2y = 10?

4. Is (0, 6) a point on the graph of –6x + 30y = –180?

5. Is (0, 4) a solution of the equation 67x + 45y = 180?

6. Is (3, 0) a point on the graph of y = –x + 3?

7. Is (3, 0) a solution of the equation 2x – 1.73y = 6?

8. Is (5, 0) a solution of the equation y = x + 5?

9. Is (6, 0) a solution of the equation –30x + 30y = 180?
10. Is (4, 0) a point on the graph of –45x + 45y = 180?

11. What value of x satisfies the equation x – y = –3 when y = –1?
12. What value of x satisfies the equation x – 2y = –3 when y = –1?

13. What value of x satisfies the equation x – 3y = –3 when y = –1?

14. What value of x satisfies the equation 2x – 3y = –3 when y = –1?

15. What value of x satisfies the equation x – 7y = –3 when y = –8?

16. What value of y satisfies the equation y = –x + 3 when x = –1?

17. What value of y satisfies the equation y = –2x + 9 when x = –1?

18. What value of y satisfies the equation y = –3x + 9 when x = –5?

19. What value of y satisfies the equation y = –6x + 9 when x = –7?

20. What value of y satisfies the equation y = 7x + 9 when x = –8?

21. If (j, k) is in Quadrant II and (m, n) is in Quadrant IV, then (m, k) is located in which Quadrant?
22. What value of y satisfies the equation y = |x| when x = –5?

23. What value of y satisfies the equation y = |x| when x = 5?

24. What value of y satisfies the equation y = |x| when x = 30?

25. What value of y satisfies the equation y = |x| when x = –30?

26. What value of y satisfies the equation 
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 when x = –1?

27. What value of y satisfies the equation 
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 when x = –0.1?

28. If 3 < x < 10 and 5 < y < 13, which of the following represents all the possible values of xy?   

A) 3 < xy < 13
B) 8 < xy < 23
C) 15< xy < 130
D) 30 < xy < 65

29. If a and b are both greater than zero and less than 1, which is true?
A) 
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D) Can’t say from the information that has been provided. 

30. If 
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, then 

A) x > - y 
B) x < - y
C) x = - y

D) It is not possible to determine the relationship between x and – y from the information given.

31. If xy = 4 and x – y = 0
A) y > 2

B) y < 2
C) y = 2
D) Can’t say from the information that has been provided. 

32. Which of the following is true, given:

x + 5 = 23

y – x = – 8  

A) y > 8

B) y < 8
C) y = 8

D) Can’t say from the information that has been provided. 

33. Which of the following is true, given:

k + n = 13
n + 4 = 9

A) k > n

B) k < n
C) k = n

D) It is not possible to determine the relationship between k and n from the information given.

34. If 
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, which of the following is true?

A) y > 10
B) y < 10
C) y = 10

D) Can’t say from the information that has been provided.

35. For a project, a square piece of cloth is folded in half and sewn together to form a rectangle that has a perimeter of 48 inches. What was the area in square inches of the piece of cloth before it was folded?

A) 16

B) 48

C) 144

D) 176

E) 256
Answers: Sec 1.11 10032

1. Yes

2. Yes

3. No

4. No

5. Yes

6. Yes

7. Yes

8. No
9. No
10. No
11. x = –4
12. x = –5
13. x  = –6
14. x = –3
15. x = –59
16. y = 4
17. y = 11
18. y = 24
19. y = 51
20. y = –47
21. Quadrant I
22. y = 5
23. y = 5
24. y = 30
25. y = 30
26. y = 1
27. y = 0.01
28. C) 15< xy < 130
29. B) 
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30. C) x = - y

31. D) Can’t say from the information that has been provided. 

32. A) y > 8

33. A) k > n
34. B) y < 10
35. E) 256
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